


81016 -- 
1” Hex bolt

81017 -- 
1” Lock Nut

Double Slug Spring Pin



Behnke Enterprises, Inc.

07-15-21

GN2900WG-A
Bulkhead
Rear Axle

www.behnkeenterprises.com

91113
Hose Coupling

2101206
Front Plate

2101207
Side Bracket

2100607
Light Cover &
(2) 3/8 x 1” Self Tapping Screw
(2) 3/8 Lock Washer

27606
Outer 
U-Bolt/Nuts

27736
Inner
U-Bolt/Nuts

REAR AXLE

BULKHEAD

563-744-3246

2101225
Step Mount

2100605
Handle27626

U-bolt/Nuts

2101227
Step Plate

Step Hardware List

Handle
(2) 1/2” Nylon Lock Nut
(2) 1/2” x 2 1/2 Grade 5 Bolt
(4) 1/2” Flat Washers

Step Plate
(8) 3/8 x 3, Grade 5
      Carriage Bolt
(16) 3/8 Flat Washers
(8) 3/8 Reverse Lock Nut

Step Mount
(4) U-bolt & Nut
(8) 3/8 Flat Washers
(8) 3/8 Reverse Lock Nut

STEP

Lights
22581 Oval (6”) Tail Light
23880 Light Grommet
91422 Light Kit

2101477
Brace

2101225_MIRROR



, Complete

3100192--Rear Slide Axle

30
29

/Backing Plate

Bearing & Seal Kit

28 91119 Spindle

29 81302 Wheel stud
30 81083 Wheel nut

Outer Race25977
Inner Race25975

28
9



Step Assembly

Behnke Enterprises, Inc.

07-15-21

GN2900WG-A
Step Assembly

563-744-3246 www.behnkeenterprises.com

2101225 Step Mount

2100605
Handle

2101227
Step Plate

27626
U-bolt/Nuts

Hardware List

Handle
(2) 1/2” Nylon Lock Nut
(2) 1/2” x 2 1/2 Grade 5 Bolt
(4) 1/2” Flat Washers

Step Plate
(8) 3/8 x 3, Grade 5 Carriage Bolt
(16) 3/8 Flat Washers
(8) 3/8 Reverse Lock Nut

Step Mount
(4) U-bolt & Nut
(8) 3/8 Flat Washers
(8) 3/8 Reverse Lock Nut

2101225_MIRROR



51”
(23871)

68”
(23985)

T-Block
Connector
(23876)

314”
(24283)

24”
(23868)

Line
Union

(24285) 23985 68” (Passenger Side)

23871 51” (Drivers Side)

24283 314” (Front to Rear)

23868 24” (Tongue)

24285 Line Union

23876 T-Block Connector 

Brake Line Parts

Behnke Enterprises, Inc.

08-01-20

GN2900WG-A
Brake Line

563-744-3246
www.behnkeenterprises.com

GN2900WG-A



23875 100 (Passenger Side)

23985 68” (Drivers Side)

24283 314” (Front to Rear)

23868 24” (Tongue)

24285 Line Union

23876 T-Block Connector 

Brake Line Parts

Behnke Enterprises, Inc.

10-01-20

GN2900TWG
Brake Line, 
One Axle563-744-3246

Brake One Axle
(Tandem Rear Axle)

www.behnkeenterprises.com

68”
(23985)

100”
(23875)

T-Block
Connector

314”
(24283)

24”

Line
Union



23877 18”

23868 24” 

23870 40”

23871 51“

23985 68” 

24283 314” (Front to Rear)

24285 Line Union

23876 T-Block Connector 

Brake Line Parts

Behnke Enterprises, Inc.

10-01-20

GN2900TWG
Brake Line,
Two Axle563-744-3246

Brake Two Axle
(Tandem Rear Axle)

www.behnkeenterprises.com

51”
(23871)

68”
(23985)

Line
Union

314”
(24283)

24”
(23868)

Line
Union

24”
(23868)

51”
(23871)

T-Block
Connector

T-Block
Connector

18”
(23877)

40”
(23870)

T-Block
Connector

24”
(23868)


